Counting Change

MATH

MONKS

a

Jen gives

E anEss Wb

to the shopkeeper

His ice cream
costs $1.20

What will be his
change?

&

Liam gives

to the shopkeeper

His football
costs $3.50

ot

What will be his
change?

13

Noah gives

, 411235813 . 3 '.:..-.-.:
ISR A |5

to the shopkeeper

Her water bottle
costs $3.75

&

What will be her
change?

(4

Oliver gives

to the shopkeeper

Her juice costs
$0.65

What will be her
change?

(5

Henry gives

=
Inezs 608

AR T

His thermometer
costs $12.25

50

What will be his
change?




Counting Change Mg
Answers
1
Jen gives His ice cream What will be his

E anEss Wb

to the shopkeeper

costs $1.20

change?

$3.80

&

Liam gives

to the shopkeeper

His football
costs $3.50

ot

What will be his
change?

$6.50

13

Noah gives

, 411235813 . 3 '.:..-.-.:
ISR A |5

to the shopkeeper

Her water bottle
costs $3.75

&

What will be her
change?

$11.25

(4

Oliver gives

to the shopkeeper

Her juice costs
$0.65

What will be her
change?

$0.35

(5

Henry gives

=
Inezs 608

AR T

His thermometer
costs $12.25

50

What will be his
change?

$7.75




